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1 BE BE 4 plin- A=l 36 32 68 25
1 =R A 1 B RF 35 33 68 24
3 MHE = 4 EaitiealiNE 35 34 69 23
3 HE BA 3 KR F RS 33 36 69 22
3 SN 3 EaitiealirNE 33 36 69 21
6 E2H KX 1 Eapipi=k e 34 36 70 20
7 Wt e 2 plin- A=l 36 36 72 19
7 B R 2 KT 35 37 72 18
9 W N: 1 @I RF 38 36 74 17
9 AL WX 3 Eafitiealiv NG 38 36 14 16
9 FH BEzN 4 plin- A=l 36 38 14 15
12 FE AKX 4 KT 38 37 75 14
12 FNE N 1 Eapicki=k e 38 37 75 13
12 HlE KM 2 R F 37 38 75 12
15 B IR 3 R N 39 37 76 11
16 B it 1 @I RF 40 38 78 10
16 FE #BA 2 FrmAF 39 39 78 9
18 AT EX 3 FrmAF 38 41 79 8
19 RER HEX 4 REBRE 42 38 80 7
20 EE —E 2 RIEHARE 41 40 81 6
20 %Il Hb 1 Eapii=k N 39 42 81 5
22 MR FHX 3 R N 38 44 82 4
23 gl E 4 FrmAF 43 41 84 3
24 il B 2 REBRE 45 40 85 2
24 o ED 3 N 44 41 85 1
26 HFE RK 3 EaliipNea 42 45 87 0
27 AR HRE 1 Eapicki=k N 42 46 88 0
28 a2 B 2 REBREF 44 46 90 0
29 NFE B 2 REL KT 47 45 92 0
30 FE KiEe 4 R N 50 43 93 0
31 AR MK 3 REKRF 45 50 95 0
32 HREH =R 4 EalitiealirNEa 52 46 98 0
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